

# Republic of the Philippines Department of Education REGION XI SCHOOLS DIVISION OF DAVAO DE ORO



Office of the Schools Division Superintendent

July 29, 2024

DIVISION MEMORANDUM No. \_\_\_\_571\_\_, s.2024

#### REQUEST OF WORK AND FINANCIAL PLAN FOR THE DOWNLOADING OF FUNDS FOR THE CLEAN-UP AND MINOR REPAIR FOR THE SCHOOLS AFFECTED WITH THE LOW-PRESSURE AREA (LPA) AND SHEARLINE

To: Public Schools District Supervisor Identified Elementary School heads

- 1. The Division of Davao de Oro with its strategic direction "Improving access, equity, equality, resiliency, and well-being will not happen overnight, nor it can be done by DepEd alone. We need a national commitment and sustained effort from all sectors of the society," especially we are experiencing a recurrent crisis due to climate change with this division shall be downloading **Twenty Thousand Pesos (P 20,000.00)** intended for the use of Clean-Up and Minor Repair (CUMR) of the schools affected with the Trough of Low-Pressure Area (LPA) and the Shearline.
- 2. In line with this the Disaster Risk Reduction Management Service (DRRMS) endorses the list of schools to be downloaded with funds for the provision of Response Intervention to wit:

Region	Division	School ID	School Name	Cleanup-Up and Minor Repair Funds
Regin XI	Davao de Oro	128459	BanagBanag ES	20,000.00
		137007	Amogad ES	20,000.00
		204022	Limot ES	20,000.00
		128304	Kidawa ES	20,000.00
		128276	Siocon ES	20,000.00
		128264	Gabi ES	20,000.00
		304183	San Miguel ES	20,000.00



## Republic of the Philippines Department of Education REGION XI

#### SCHOOLS DIVISION OF DAVAO DE ORO

Office of the Schools Division Superintendent

the schools division superintendent							
	204001	Diosdado Macapagal ES	20,000.00				
	204007	Bankerohan Sur ES	20,000.00				
	128428	Baylo ES	20,000.00				
	128490	Magading ES	20,000.00				
	128274	San Jose ES	20,000.00				
	128479	Tapia ES	20,000.00				
	304197	Mapawa NHS	20,000.00				
	128259	Aurora ES	20,000.00				

3. In addition, all school heads of the above-mentioned schools are advised to submit a Work and Financial Plan as to the eligible items for the cleanup and minor repair on or before August 16, 2024.

The funds shall be used for the following activities.

- a. Purchase of supplies and equipment to be used for the said purpose.
- b. Payment for labor services of non-DepEd personnel; and
- c. Other expenses related to clean-up and minor repair of schools.
- 4. All expenses shall be subject to the usual budgeting, auditing and procurement rules and regulations. Misuse and/or mismanagement of these funds for the purpose of other than the authorized in this set of guidelines is strictly prohibited. Any violation committed by any individual or group will be dealt with in accordance with existing government accounting and auditing rules and regulations.
- 5. For monitoring and documentation purposes, the schools are expected to liquidate the fund within 30 days after the downloading shall submit a photo documentation through this email add: joel.jumalon@deped.gov.ph
- 6. For queries and clarifications, you may contact Joel S. Jumalon on 09271357315.
- 7. Immediate dissemination of this Memorandum is desired.

CRISTY C. EPE

Schools Division Superintendent





### REPUBLIC OF THE PHILIPPINES

#### DEPARTMENT OF EDUCATION

#### DISASTER RISK REDUCTION AND MANAGEMENT SERVICE

Rm206MABINI BLDG., DEPED COMPLEX, MERALCO AVENUE, PASIG CITY Tel. Nos. +832-8635-3764; +632-8637-4933 Mobile Nos +63908-2630382, +63915-5153138 Email address dimo@deped gov.ph



**MEMORANDUM** 

NO: DRRMS-02-29-2024-0001

FOR

ALLAN G. FARNAZO

Regional Director, Region XI

MARIA INES C. ASUNCION

Officer-in-Charge, Regional Director, CARAGA

FROM

th Esplana-Alama/

NEMNISTH ESPLANA-ALAMAN

Director IV, Disaster Risk Reduction and Management Service

SUBJECT

Endorsement of List of Schools for Fund Allocation: Response

Interventions for Trough of Low-Pressure Area (LPA) (Batch 2)

DATE

04 March 2024

The Disaster Risk Reduction and Management Service (DRRMS) endorses the list of schools to be downloaded with funds for the provision Response Interventions due to Trough of Low-Pressure Area. Please refer to the attached annexes:

- 1. Annex A: Summary of List of Divisions to be Downloaded with Funds for the Provision Response Interventions due to Trough of Low-Pressure Area (Batch 2)
- 2. Annex. B.1: Detailed List of School to be Downloaded with Funds for the Procurement of Materials and Labor of Temporary Learning Spaces due to Trough of Low-Pressure Area (LPA)
- 3. Annex. B.2: Detailed of List of Schools to be Downloaded with Funds for Clean-Up and Minor Repair due to Trough of Low-Pressure Area (LPA)
- 4. Annex C: Vetted Rapid Assessment of Damages Report (RADaR).

The funds shall be charged to 2024 DPRP (FY 2023 Continuing Funds) for Response Mobilization/ Regional Standby Funds, subject to the usual accounting and auditing rules and regulations.

Further, all response interventions provided by the concerned region shall be submitted to the DRRMS at drrmo@deped.gov.ph, for reporting and monitoring purposes.

For your information and immediate appropriate action.

Annex A: Summary of Regions and Divisions to be Provided with Funds for Response Interventions due to Trough of Low-Pressure Area (Batch 2)

No. Region	Region	Division	Temporary Learning Spaces			Clean-Up and Minor Repair			Response	
	Division	No. of Beneficiary Schools	Approved TLS	Unit Cost	Total Cost	No. of Beneficiary Schools	Unit Cost	Total Cost	Provided	
1	Region XI	Davao Del Norte	1	2	180,000.00	360,000.00	-	20,000.00	-	360,000.00
2		Tagum	-	-	180,000.00	-	10	20,000.00	200,000.00	200,000.00
3		Mati City	-	-	180,000.00	-	9	20,000.00	180,000.00	180,000.00
4		Davao City	-	-	180,000,00	-	4	20,000.00	80,000.00	80,000.00
5		Davao De Oro	-	-	180,000.00	-	14	20,000.00	280,000.00	280,000.00
6	CARAGA	Siargao	2	4	180,000.00	720,000.00	6	20,000.00	120,000.00	840,000.00
Total		2 6	3	6		1,080,000.00	43		860,000.00	1,940,000.00

Annex B.1: Detailed List of Schools to be Provided with Funds for the Procurement of Materials and Labor for Temporary Learning Spaces due to Trough of Low-Pressure Area

No.	Region	Division	School ID	School ID School Name		Unit Cost	Total Cost
1	Region XI	Davao Del Norte	128755	San Miguel ES	2	180,000.00	360,000.00
2	CARAGA	Siargao	132132	Osmena Elementary School	3	180,000.00	540,000.00
3	CARAGA	Siargao	132148	Consuelo Elementary School	1	180,000.00	180,000.00
Total	2	2		3	6		1,080,000.00

1

Annex B.2: Detailed List of Schools to be Provided with Clean-Up and Minor Repair Funds due to Trough of Low-Pressure Area

No.	Region	Division	School ID	School Name	Clean-Up and Minor Repair Funds	
1	Region XI	Tagum City	128775	COL. ROSALIO C. SALUDARES ELEMENTARY SCHOOL	20,000.00	
2	Region XI	Tagum City	128776	DON RICARDO BRIZ CENTRAL ELEMENTARY SCHOOL	20,000.00	
3	Region XI	Tagum City	128778	MANKILAM ELEMENTARY SCHOOL	20,000.00	
4	Region XI	Tagum City	128785	F. Dela Cruz-P. Sagun Elementary School	20,000.00	
5	Region XI	Tagum City	304225	Tagum City National Comprehensive High School	20,000.00	
6	Region XI	Tagum City	128786	BABANGANAN ELEMENTARY SCHOOL	20,000.00	
7	Region XI	Tagum City	128787	BINCUNGAN ELEMENTARY SCHOOL	20,000.00	
8	Region XI	Tagum City	128791	HERCULINA L. EDIG ELEMENTARY SCHOOL	20,000.00	
9	Region XI	Tagum City	304231	Jose Tuason Jr. Memorial National High School	20,000.00	
10	Region XI	Tagum City	500425	Liboganon Integrated School	20,000.00	
11	Region XI	Davao City	129522	Bunawan Aplaya ES	20,000.00	
12	Region XI	Davao City	129650	New Matina ES	20,000.00	
13	Region XI	Davao City	129653	Alfredo Aledia ES	20,000.00	
14	Region XI	Davao City	129652	A.L. Navarro CES	20,000.00	
15	Region XI	Mati City	51424	Culian IS	20,000.00	
16	Region XI	Mati City	129419	Gelacio G. Ytac Elementary School	20,000.00	
17	Region XI	Mati City	129399	Don Enrique Lopez Elementary	20,000.00	
18	Region XI	Mati City	325105	Macambol NHS	20,000.00	
19	Region XI	Mati City	325101	Dona Rosa G. Rabat Memorial High School	20,000.00	
20	Region XI	Mati City	129398	Gov. Leopoldo Lopez Sr. Memorial School	20,000.00	
21	Region XI	Mati City	304303	Bobon National High School	20,000.00	
22	Region XI	Mati City	304328	Davao Oriental Regional Science High School	20,000.00	
23	Region XI	Mati City	304325	Mati NCHS	20,000.00	
24	Region XI	Davao De Oro	128459	Banagbanag ES	20,000.00	
25	Region XI	Davao De Oro	137007	Amogad ES	20,000.00	
26	Region XI	Davao De Oro	204022	Limot ES	20,000.00	
27	Region XI	Davao De Oro	128304	Kidawa ES	20,000.00	
28	Region XI	Davao De Oro	128276	Siocon ES	20,000.00	

No.	Region	Division	School ID	School Name	Clean-Up and Minor Repair Funds
29	Region XI	Davao De Oro	128264	Gabi ES	20,000.00
30	Region XI	Davao De Oro	304183	San Miguel NHS	20,000.00
31	Region XI	Davao De Oro	204001	Diosdado Macapagal ES	20,000.00
32	Region XI	Davao De Oro	204007	Bankerohan Sur ES	20,000.00
33	Region XI	Davao De Oro	128428	Baylo ES	20,000.00
34	Region XI	Davao De Oro	128490	Magading ES	20,000.00
35	Region XI	Davao De Oro	128274	San Jose ES	20,000.00
36	Region XI	Davao De Oro	128479	Tapia ES	20,000.00
37	Region XI	Davao De Oro	128259	Aurora ES	20,000.00
38	CARAGA	Siargao	132132	Osmena Elementary School	20,000.00
39	CARAGA	Siargao	132148	Consuelo Elementary School	20,000.00
40	CARAGA	Siargao	132150	Daku Elementary School	20,000.00
41	CARAGA	Siargao	132164	Bitoon Elementary School	20,000.00
42	CARAGA	Siargao	132185	Jaboy Elementary School	20,000.00
43	CARAGA	Siargao	304781	San Benito National High School	20,000.00
Total	2	2		43	860,000.00